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1 �����

1.1 �����

��������������	�
�����������
�����

�� 1.1 (�����) � p ����a �� p ��������

(1) ap−1 ≡ 1 (mod p).

(2) � d ��� ad ≡ 1 (mod p) ����������

d | (p − 1).

����

(1) �� p ���� a �� p �������
� p ������

1 · a, 2 · a, 3 · a, · · · , (p − 1) · a (mod p)

����

1, 2, 3, · · · , (p − 1) (mod p)

����������	

(1 · a) · (2 · a) · · · ((p − 1) · a) ≡ 1 · 2 · · · (p − 1) (mod p)
⇒ ap−1 · 1 · 2 · · · (p − 1) ≡ 1 · 2 · · · (p − 1) (mod p)
⇒ (ap−1 − 1)(1 · 2 · · · (p − 1)) ≡ 0 (mod p).

�� p � 1 · 2 · · · (p − 1) ����


ap−1 − 1 ≡ 0 (mod p) ⇒ ap−1 ≡ 1 (mod p).

(2) � p − 1 � d �����������
� q � r��
��

p − 1 = dq + r, 0 ≤ r < d.

� {
ap−1 ≡ 1 (mod p),
ad ≡ 1 (mod p),

��

ar = ar · 1q ≡ ar · (ad)q = adq+r = ap−1 ≡ 1 (mod p).

�� d ������
��	 r = 0�� d | (p − 1)� �

��������� (2) ��� ?? ��
����������
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1.2 �����������������

������������������������������

�� 1.1 ����������

F4 = 224
+ 1 = 65537.

������ p �� F4���	

p | 216 + 1 ⇒ 216 ≡ −1 (mod p)
⇒ 232 ≡ 1 (mod p).

���� ?? �������� 32 ����
���������������

32 | (p − 1) ⇒ p ≡ 1 (mod 32).

� p = 32n + 1 �

n 1 2 3 4 5 6 7 8
p 33 65 97 129 161 193 225 257

.

�� 33, 65, 129, 161, 225 ������ 97, 193 ���� 65537 


√
65537 < 257,

�
 F4 = 224
+ 1 = 65537 ������ �

�� 1.2 ���� 213 − 1 = 8191�

������ p �� 8191���	

p | 213 − 1 ⇒ 213 ≡ 1 (mod p).

���� ?? �������� 13 ����
���������������{
13 | (p − 1)
p ≡ 1 (mod 2)

⇒
{

p ≡ 1 (mod 13)
p ≡ 1 (mod 2)

⇒ p ≡ 1 (mod 26).

� p = 26n + 1 �

n 1 2 3
p 27 53 79

.

�� 27 ������ 53, 79 ���� 8191 

√

8191 < 92��
 213 − 1 = 8191 �

����� �
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1.3 ����

�� 1.3 � p �����a, b ������
 p | a2 + b2���

(1) ���� n �� p | 1 + n2�

(2) p ≡ 1 (mod 4)�

���

(1) �� a, b ��������
���� x, y �� ax − by = 1�����


(a2 + b2)(x2 + y2) = (ax − by)2 + (ay + bx)2,

����

p | (x2 + y2)(a2 + b2) = 1 + n2, �� n = ay + bx.

(2) � p | 1 + n2 �� n2 ≡ −1 (mod p)��� n4 ≡ 1 (mod p)����� ?? ��

������ 4 ����
��������������	��

4 | (p − 1) ⇒ p ≡ 1 (mod 4).

�

�� 1.4 � m,n ������

(1) m2 − n2, 2mn �����	��� 3 ����

(2) m2 − n2, 2mn �����	��� 4 ����

(3) m2 − n2, 2mn,m2 + n2 �����	��� 5 ����

���

(1) � m,n 	�� 3 ����� 3 | 2mn��
��� m,n � 3 �������

���	��

m2 ≡ 1 (mod 3), n2 ≡ 1 (mod 3) ⇒ m2 − n2 ≡ 0 (mod 3)
⇒ 3 | m2 − n2.

(2) � m,n 	�� 2 ����� 4 | 2mn, �
��� m,n � 2 �����	��

m2 ≡ 1 (mod 4), n2 ≡ 1 (mod 4) ⇒ m2 − n2 ≡ 0 (mod 4)
⇒ 4 | m2 − n2.

(3) � m,n 	�� 5 ����� 5 | 2mn��
��� m,n � 5 �������

���	�

m4 ≡ 1 (mod 5), n4 ≡ 1 (mod 5) ⇒ m4 − n4 ≡ 0 (mod 5)
⇒ 5 | m4 − n4

⇒ 5 | m2 − n2 
 5 | m2 + n2.
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�

�� 1.1 ���� 211 − 1 = 2047�

�� 1.2 ���� 217 − 1 = 131071�

�� 1.3 �� 237 − 1 = 137438953471 �����

�� 1.4 �������������� n����

{n, n + 1, n + 2, n + 3, n + 4, n + 5}

�������������
����������	������������

�	��

�� 1.5 � a, b, c ���������

7 | abc(a3 − b3)(b3 − c3)(c3 − a3).

��
��

��	 1, 2, 3, 4, 5 ��������������������	�������	


������������������	����
�����	
�����

�������

2

1

3 4

5

⇒
4

1

2 3

5

���

� a ����
 x2 − x + a �� x13 + x + 90��	 a ���

��

����
������ 1601 ���� 1665 ���	��	����
Ǳ
���

1994 ���
�������������������
Ǳ�������� 

�


xn + yn = zn,

� n > 2 �
	���� x, y, z�

���������� n = 4 ����n = 4 ��� �������!"��

��� �������
���� n = 4 �����
�		��� ??�
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������
Ǳ�#�������$ ����$ ��	�������

���	��%����	����	����

Fn = 22n
+ 1

����������
Ǳ�����
�

F5 = 225
+ 1 = 4294967297 = 641 × 6700417.

����	�����������������
�!&'������
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